

City of Neenah Board of Public Works Agenda Tuesday, August 13, 2019 12:00 p.m. Neenah City Hall Hauser Room

NOTICE IS HEREBY GIVEN, pursuant to the requirements of Wis. Stats. Sec. 19.84, that a majority of the Neenah Common Council may be present at this meeting. Common Council members may be present to gather information about a subject over which they have decision-making responsibility. This may constitute a meeting of the Neenah Common Council and must be noticed as such. The Council will not take any formal action at this meeting.

- I. Approval of the minutes of the July 30, 2019 meeting. (Minutes can be found on the City web site)
- II. Appearances.
- III. Unfinished Business.
- IV. New Business.
 - A. Public Works
 - Change Order No. 1 for Contract 2-18 Miscellaneous Sewer and Water Main Construction and Street Construction on Cecil Street and Adams Street to David Tenor Corporation, Green Bay, WI, in the amount of (\$12,577.32)
 - Final Payment for Contract 2-18 Miscellaneous Sewer and Water Main Construction and Street Construction on Cecil Street and Adams Street to David Tenor Corporation, Green Bay, WI, in the amount of \$79,801.68
 - Final Payment No. 2 for Contract 1-18 Miscellaneous Sewer and Water Main Construction and Street Construction on Andrew Avenue, Richard Avenue, Geiger Street, and Whiting Court to David Tenor Corporation, Green Bay, WI, in the amount of \$21,461.37
 - B. Park & Recreation
 - 1. Pay Request No. 7 for Washington Park Phase 3 to R & R Wash, Ripon, WI, in the amount of \$77,649.84
- V. Any announcements/questions for the Board.

In accordance with the requirements of Title II of the Americans with Disabilities Act (ADA), the City of Neenah will not discriminated against qualified individuals with disabilities on the basis of disability in its services, programs, or activities. If you need assistance, or reasonable accommodation in participating in this meeting or event due to a disability as defined under the ADA, please call the Clerk's Office (920) 886-6100 or the City's ADA Coordinator at (920) 886-6106 or e-mail attorney@ci.neenah.wi.us at least 48 hours prior to the scheduled meeting or event to request an accommodation.

Minutes of the Board of Public Works Meeting July 30, 2019 12:00 Noon Hauser Room

<u>MEMBERS PRESENT</u>: Mayor Kaufert, City Attorney Godlewski, Director of Public Works Kaiser, Director of Finance Easker, and Alderpersons Bates & Spellman.

ALSO PRESENT: Deputy Clerk Cheslock, Director of Parks & Recreation Kading, Director Mach, and Deputy Director Schmidt.

Mayor Kaufert called the meeting to order at 12:00 p.m.

MINUTES: MSC Bates/Kaiser to approve the minutes from the July 9, 2019 meeting, all voting aye.

APPEARANCES: None

NEW BUSINESS: None

Public Works:

Pay Estimate No. 4 for Contract 1-19: Dir. Kaiser requested approval for Pay Estimate No. 4 for Contract 1-19 Miscellaneous Sewer and Water Main Construction and Street Construction on Caroline Street, Stevens Street and Fifth Street to Carl Bowers & Sons Construction Co., Inc., Kaukauna, WI, in the amount of \$348,562.79. This project is close to complete and a final payment will be coming soon. The Fifth Street section of this project is slightly over budget due to poor soil and required extra excavation. MSC Kaiser/Godlewski to approve Pay Estimate No. 4 for Contract 1-19 Miscellaneous Sewer and Water Main Construction and Street Construction on Caroline Street, Stevens Street, and Fifth Street to Carl Bowers & Sons Construction Co., Inc., Kaukauna, WI, in the amount of \$348,562.79, all voting aye.

Pay Estimate No. 4 for Contract 2-19: Dir. Kaiser requested approval for Pay Estimate No. 4 for Contract 2-19 Miscellaneous Sewer and Water Main Construction and Street Construction on Stanley Street, Stanley Court, Thomas Court to Robert J. Immel Excavating, Inc., Greenville, WI, in the amount of \$72,094.54. The City did not require these laterals be replaced, but because home owners are opting to complete the lateral replacement all the way up to the house the same 50/50 offer is in place. This project is slow moving due to the many water tests that are required. MSC Kaiser/Godlewski to approve Pay Estimate No. 4 for Contract 2-19 Miscellaneous Sewer and Water Main Construction and Street Construction on Stanley Street, Stanley Court, Thomas Court to Robert J. Immel Excavating, Inc., Greenville, WI, in the amount of \$72,094.54, all voting aye.

Pay Estimate No. 1 for Contract 4-19: Dir. Kaiser requested approval for Pay Estimate No. 1 for Contract 4-19 Concrete Pavement and Sidewalk Repair to Sommers Construction Company Inc., Shiocton, WI, in the amount of \$237,895.69. MSC Kaiser/Spellman to approve Pay Estimate No. 1 for Contract 4-19 Concrete Pavement and Sidewalk Repair to Sommers Construction Company Inc., Shiocton, WI, in the amount of \$237,895.69, all voting aye.

<u>Pay Estimate No. 1 for Contract 5-19:</u> Dir. Kaiser requested approval for Pay Estimate No. 1 for Contract 5-19 HMA Pavement Repair to MCC, Inc., Appleton, WI, in the amount of \$36,251.54. This

Board of Public Works Minutes July 30, 2019 Page 2 of 5

project is for general pavement patching down Commercial Street. Commercial Street is scheduled for full reconstruction after 2022 after being submitted for funding with an Urban Transportation Grant through the State. **MSC Kaiser/Godlewski to approve Pay Estimate No. 1 for Contract 5-19 HMA Pavement Repair to MCC, Inc., Appleton, WI, in the amount of \$36,251.54, all voting aye.**

Final Payment No. 2 for Contract 1-18: Dir. Kaiser requested approval for Final Payment No. 2 for Contract 1-18 Miscellaneous Sewer and Water Main Construction and Street Construction on Andrew Avenue, Richard Avenue, Geiger Street, and Whiting Court to David Tenor Corporation, Green Bay, WI, in the amount of \$21,461.37. This project was submitted for final payment in early 2019. MS Kaiser/Godlewski to recommend Council approve the Supplemental Final Payment for Contract 1-18 Miscellaneous Sewer and Water Main Construction and Street Construction on Andrew Avenue, Richard Avenue, Geiger Street, and Whiting Court to David Tenor Corporation, Green Bay, WI, in the amount of \$21,461.37. About a month after that the Contractor came back to the City after being notified by their subcontractors that the final payment was short. City staff and the contractor worked together to determine the correct amount due. The budgets for these projects can absorb the additional payment. Discussion ensued on who is at fault for the mistake, what kind of precedent would be set by making an additional final payment, and how the mistake occurred. MSC Easker/Bates to defer action on the Supplemental Final Payment for Contract 1-18 Miscellaneous Sewer and Water Main Construction and Street Construction on Andrew Avenue, Richard Avenue, Geiger Street, and Whiting Court to David Tenor Corporation, Green Bay, WI, in the amount of \$21,461.37 until the next Board of Public Works Meeting, all voting ave.

<u>Contract and Account Summary</u>: Director Kaiser reviewed his memorandum prepared at the request of the Board at the previous meeting showing a budget summary of contracts in place. The summary is separated into the general budgeting categories for Street/Sidewalk, Sanitary Sewer, Storm Sewer and Water. (Summary Attached) No action was taken.

Parks & Recreation:

Pay Request No. 6: Dir. Kading requested approval for Pay Request No. 6 for Contract Washington Park Phase 3 to R & R Wash, Ripon, WI, in the amount of \$223,129.62: Dir. Kading requested approval of Pay Request No. 6 for Contract Washington Park Phase 3 to R & R Wash, Ripon, WI, in the amount of \$223,129.62. This project is close to completion, with just finishing touches left. One area needed additional stone due to the soil quality. The splash pad will have a soft opening Thursday, August 1. Once open the splash pad will have regular hours of 10:00am to 8:00pm. MSC Godlewski/Kaiser to approve Pay Request No. 6 for Contract Washington Park Phase 3 to R & R Wash, Ripon, WI, in the amount of \$223,129.62, all voting aye.

Community Development:

<u>Development Agreement for Cardinal Plat Subdivision:</u> Deputy Dir. Schmidt requested approval of the Development Agreement for Cardinal Plat Subdivision. Deputy Dir. Schmidt highlighted the two deferred assessments that are part of this development agreement (Breezewood and County Highway G). There will be an early fall start date, with one season of freezing and thawing for utilities, and additional construction spring 2020. This item was brought before the Finance and Personnel Committee on July 29, 2019 and was recommended to Council. **MSC**

Godlewski/Easker to recommend Council approve the Development Agreement for Cardinal Plat Subdivision, all voting aye.

ADJOURNMENT

MSC Godlewski/Kaiser to adjourn at 12:40 p.m., all voting aye.

Respectfully Submitted,

Stephanie Cheslock, Deputy Clerk



Department of Public Works 211 Walnut St. • P.O. Box 426 • Neenah WI 54957-0426 Phone 920-886-6241 • e-mail: gkaisengid.neenah.wi.us GERRY KAISER, P.E. DIRECTOR OF PUBLIC WORKS

MEMORANDUM

DATE: July 24, 2019

TO: Mayor Kaufert, and Members of the Board of Public Works

FROM: Gerry Kaiser, Director of Public Works

RE: Contract Account Summary

At a previous meeting, the Board requested a budget summary of the contracts in place. That summary is attached. The summary is separated into the general budgeting categories for Street/Sidewalk, Sanitary Sewer, Storm Sewer and Water.

Streets/Sidewalk – Cumulatively, the various projects are well under 2019 budgeted funds and prior year carry-forwards. This is primarily due to the amount below budget for street construction on Thomas Court and Stanley Court. Those streets were budgeted for concrete pavement. Both asphalt and concrete pavements were bid and the asphalt option was selected based on the life-cycle cost analysis.

Sanitary Sewer - Cumulatively, the various projects are well under 2019 budgeted funds and prior year carry-forwards. This is primarily due to the amount of carry-forward funds available for miscellaneous repairs and replacements. Higher unit pricing caused the basic contracts to be well above budget for all of the projects, a trend that we've seen amongst all utilities this year – not only here, but area-wide. Future CIPs will reflect this change in bidding environment. In addition to bid pricing, the change to mandatory lateral replacement played a role in the amount that these projects were over-budget. The budgets on these projects were established prior to the policy change to mandatory replacement so, in essence, the bid work went beyond the level of effort assumed in budgeting. This is also being considered in future CIPs.

Storm Sewer - Cumulatively, the various projects are slightly under 2019 budgeted funds and prior year carry-forwards. This is primarily due to the amount of carry-forward funds available for repairs and replacements on various streets. In addition to higher than historical bid pricing, we increased the amount of work beyond that projected in the budget. Part of that increase was the installation of storm sewer laterals as part of the utility installation. This provides the opportunity for homeowners to directly connect their sump pumps to the storm sewer. The City benefits by reducing the number of illegal connections to the sanitary sewer system and the number of curb penetrations for sump pump discharge.

Water - Cumulatively, the various projects are over 2019 budgeted funds. This is primarily due to higher than historical bid pricing.

2019 Contract Account Summary																				
																				1
				Contract 1-19)		contract 2-1	9		Contract 4-1	9	C	Contract 5-1	9		Courtney Ct	t	Contracts	Difference	Difference
Account Description	Account #	Budget	Breakdown	Proj. Adj.	Total	Breakdown	Proj. Adj.	Total	Broakdown	Proj. Adj.	Total	Breakdown	Proj. Adj.	Total	Breakdown	Proj. Adj.	Total	Total	from Budget	by Category
Street - 5th (Clark to Lincoln)	012-4301-743-0236	\$65,000	\$66,104.00		\$66,104.00													\$66,104.00	(\$1,104.00)	
Street - Courtney Ct	012-4302-743-0236	\$85,000													\$ 81,057.94		\$81,057.04	\$81,057,94	\$3,942,06	N
Street - Caroline (Union to Van)	012-4394-743-0236	\$185,000	\$145,000.00		\$145,000.00													\$145,000.00	\$40,000.00	7
Street - Stanley Court	012-4395-743-0236	\$475,000				\$275,000.00		\$275,000,00										\$275,000.00	\$200,000.00	
Street - Thomas Court	012-4396-743-0236	\$475,000				\$275,000.00		\$275,000.00										\$275,000.00	\$200,000.00	
Street - Stanley St (Marathon to Commercial)	012-4397-743-0236	\$150,000	Acres and		Annual Control of the	\$187,970.50		\$187,970.50										\$187,970.50	(\$37,970,50)	
Street - Stevens (Congress to Daty)	012-4399-743-0236	\$180,000	\$145,000.00		\$145,000.00													\$145,000.00	\$35,000.00	1
Street Repair Undesignated (CF)	012-5199-742-0236	\$50,000							\$50,000,00		\$50,000.00					1		\$50,000.00	\$0.00	0
Street Repair Undesignated	012-5199-743-0236	\$180,000							\$161,648.42		\$161,648.42	\$3,000.00		\$3,000.00				\$164,648,42	\$15,351.58	
Sidawak / Trail Maintenance	012-5301-743-0236	\$38,729							\$37,615.00		\$37,615.00							\$37,615.00	\$1,114.00	9
Bell Street Trail (Misc Repair Budget)	012-5301-743-0236	\$61,271							\$61,271.00		\$61,271.00							\$61,271.00	\$0.00	
Ball Street Trail (CF)	012-5332-742-0236	\$48,729					1	0	\$48,729.00		\$48,729.00					1		\$48,729.00	\$0.00	0
Pendeton Road Sidewall/Trail	031-3416-743-0236	\$115,000							\$108,000.00	1	\$108,000.00							\$108,000.00	\$7,000.00	\$463,333.1
Sanitary - Miscallaneous Repairs	046-5001-743-0236	\$100,000	\$45,320.00	\$38,000.00	\$83,320.00	\$45,525.00		\$45,525.00										\$128,845.00	(\$28,845.00)	
Sanitary Payament Repair	046-5049-743-0236	\$20,000							\$35,325,83		\$35,325.83	\$6,000.00		\$6,000.00				\$41,325.83	(\$21,325.83)	
Sanitary - Carolina (Union to Van)	046-5081-743-0236	\$100,000	\$94,000.00	\$22,000.00	\$116,000.00													\$116,000.00	(\$16,000.00)	
Sanitary - Stevens (Congress to Doty)	046-5082-743-0236	\$100,000	\$109,000.00	\$35,000.00	\$144,000,00													\$144,000.00	(\$44,000.00)	
Sanitary - Courtney Ct	046-5083-743-0236	\$170,000													\$217,572.40		\$217,572.AD	\$217,572.40	(\$47,572.40)	
Sanitary - Various Repairs/Replacements	046-5001-742-0236	\$458,177	1.0000000000000000000000000000000000000			100000000000000000000000000000000000000										3-41-5		\$0.00	\$458,177.00	\$300,433.7
Storm - Miscelaneous Rapairs	049-5203-743-0236	\$300,000	\$220,130.00		\$220,130.00	\$159,690.00		\$159,690.00							\$ 47,933.15	\$5,000.00	\$52,933.15	\$432,753.15	(\$132,753.15)	
Storm - Payament Repair	049-5249-743-0236	\$60,000							\$22,464,33		\$22,464.33	\$12,965,80		12985.8				\$35,450.13	\$24,549,87	7
Storm - Various Main Repairs (CF)	049-5203-742-0236	\$22,379																\$0.00	\$22,379.00	
Storm - Various Strauts (CF)	049-5205-742-0236	\$89,729																\$0.00	\$89,728.00	\$3,903.7
Water Main - Caroline (Union to Van)	400-0000-207-0410	\$80,900	\$117,488.00	\$7,000.00	\$124,488.00													\$124,488.00	(\$43,588.00)	
Water Main - Stanley Court	400-0000-207-0411	\$196,400				\$237,642.00		\$237,642.00										\$237,642.00	(\$41,242.00)	
Water Main - Thomas Court	400-0000-207-0412	\$196,400				\$237,643.00		\$237,643,00										\$237,643.00	(\$41,243.00)	
Water Main - Stanley St (Marathon to Commercial)	400-0000-207-0413	\$138,600				\$160,000.00		\$160,000.00										\$160,000.00		
Water Main - Stevens (Congress to Doty)	400-0000-207-0414	\$94,400	\$140,000.00	\$9,000.00	\$149,000.00		-											\$149,000.00		
Water Main - 5th (Clark to Lincoln)	400-0000-207-0415		\$117,487.00															\$127,497.00		
Water Main - Courtney Ct	400-0000-207-0416	\$67,600													\$116,201.00		\$116,201.00	\$116,201.00		
Water Maintenance Mains	400-0402-770-6730	\$250,000							\$43,109.92		\$43,109.92	\$42,000.00		\$42,000.00				\$85,109.92		
Water Maintenance Services	400-0402-770-6750								\$7,861.50			\$21,000.00		\$21,000.00					\$71,138.50	(\$55,532.4
			\$1 199 529 00	\$121,000,00	\$1,320,529.00	\$1.578.470.50	40.00	\$1,578,470,50		\$0.00	\$576,025.00	*****	40.00	*****	\$402.704.49	\$5,000,00	\$467,764.49	\$4,027,774,79	41 -11-1-1	\$411,704.4

Contract:	2-18	
Project:	Contract 2-18 Miscellaneous Sewer and Water Main Construction	
•	and Street Construction on Cecil Street and Adams Street	
Contractor:	Douid Topos Corporation	
Contractor.	David Tenor Corporation 2759 Dewey Decker Drive	
	Green Bay, WI 54313	
Original Contract:		
Change Ordered He		
See attached contract		\$17,422.
2. Liquidated Damages		(\$30,000.
3		
		· · · · · · · · · · · · · · · · · · ·
5		
·		 -
Reason for Change: 1. Contract closeout - a	s built quantity totals	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c	TOTAL s built quantity totals days after contract completion date.	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c	TOTAL s built quantity totals	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c 3.	TOTAL s built quantity totals days after contract completion date.	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c 3.	TOTAL s built quantity totals days after contract completion date.	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c 3	TOTAL is built quantity totals days after contract completion date.	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c 3	TOTAL is built quantity totals days after contract completion date. Contract Time (Calendar Days)	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c 3	TOTAL is built quantity totals days after contract completion date. Contract Time (Calendar Days) \$1,791,848.10 Original:	
Reason for Change: 1. Contract closeout - a 2. Work completed 30 c 3	TOTAL is built quantity totals days after contract completion date. Contract Time (Calendar Days)	

DESCRIPTION	Unit Price	Final Quantity Difference	% Difference	Final Cost
Part 1 - Cecil Street & Adams Street				
A. Sanitary Sewer				
Furnish and relay 12-inch PVC sanitary sewer	\$65.00	5	7%	\$ 325.00
2. Furnish and relay 10-inch PVC sanitary sewer	\$60.00	9	2%	
3. Furnish and relay 8-inch PVC sanitary sewer	\$60.00	(2)	0%	
Furnish and relay 6 inch sanitary lateral in ROW (59)	\$45.00	(164)	-9%	\$ (7,380.00)
Furnish and relay 6 inch sanitary lateral ROW to house	\$38.00	(100)		\$ (3,800.00)
Furnish and pipeburst sanitary lateral	\$15.38	200		\$ 3,076.00
7. Reconnect sanitary lateral at foundation - pipeburst	\$1,538.00	(2)		\$ (3,076.00)
Reconnect under basement floor - pipeburst	\$1,795.00	1		\$ 1,795.00
Reconnect lateral to wye at main	\$250.00	(3)	-100%	
10. Furnish and Install Standard manhole (9)	\$320.00	(1)	-1%	
11. Remove sanitary manhole	\$300.00	0	0%	
12. Clean and Televise Sewer (Sanitary only)	\$2,580.00	0	0%	
13. Adjust sanitary manhole (slurry backfill)	\$400.00	0	0%	
Part 1.A. Sanitary Sewer Total		0		\$ (9,710.00)
B. Water Main		0		
Rock Removal	\$32.50	(127)	-8%	\$ (4,127.50)
2. Furnish &install 16-inch PVC C-900 main	\$91.00	(9)	0%	
3. Furnish &install 12-inch PVC C-900 main	\$200.00	(28)	-50%	\$ (5,500.00)
4. Furnish &install 10-inch PVC C-900 main	\$160.00	86		\$ 13,760.00
5. Furnish &install 8-inch PVC C-900 main	\$64.00	(213)	-15%	\$ (13,632.00)
6. Furnish &install 6-inch PVC C-900 main	\$78.00	6	5%	
7. Furnish & install 16-inch valve w/ box	\$7,650.00	0	0%	\$ -
8. Furnish & install 12-inch valve w/ box	\$2,385.00	0	0%	
9. Furnish & install 8-inch valve w/ box	\$1,375.00	0	0%	\$ -
10. Furnish & install 2-inch short side service	\$1,750.00	0	0%	\$ -
11. Furnish & install 1.25-inch long side service	\$1,500.00	0	0%	\$ -
12. Furnish & install 1.25-inch short side service	\$1,200.00	0	0%	\$ -
13. Furnish & install 1.25-inchservice from ROW to house by exca		(50)	-100%	\$ (1,800.00)
14. Furnish & install 1.25 inch service from ROW to	\$12.00	(100		\$ (1,200.00)
house by excavation in same trench as san. lateral		0		
15. Furnish & install 1.25 inch service from ROW to	\$5.12	107	27%	\$ 547.84
house by pulling w/ sanitary sewer pipeburst		0	1	
16. Furnish & install 1.25 inch service from ROW to house by pulling	\$40.00	71	284%	\$ 2,840.00
17. Water service connection to building	\$358.00	<u> </u>		
18. Furnish & install electrical grounding	\$200.00		<u> </u>	\$ (1,000.00
19. Furnish & install hydrant, lead and valve	\$4,600.00			\$ (4,600.00
20. Abandon hydrant	\$250.00			
21. Abandon Valve manhole	\$300.00			6 S -
22. Abandon Valve Box	\$150.00			6 \$ -
22. Availuuli valve oux	¥150.00			

DESCRIPTION	Unit Price	Final Quantity Difference	% Difference	Final Cost Difference
Part 1.B. Water Main Total				\$ (16,136.66)
C. Storm Sewer				
1. Furnish and relay 30-inch storm sewer	\$65.00	12	3%	\$ 780.00
2. Furnish and relay 24-inch storm sewer	\$58.00	30	4%	\$ 1,740.00
3. Furnish and relay15-inch storm sewer	\$48.00	(3)	-3%	\$ (144.00)
4. Furnish and relay 12-inch storm sewer	\$48.00	(43)	-6%	\$ (2,064.00)
5. Furnish and relay 10-inch storm sewer	\$41.00	359	71%	\$ 14,719.00
6. Furnish and relay 4-inch storm sewer lateral	\$35.00	(100)	-100%	\$ (3,500.00)
7. Furnish and install storm manhole (14)	\$300.00	(2)	-3%	\$ (630.00)
8. Furnish and install catch basin	\$1,250.00	0	0%	\$ -
9. Remove Storm Manhole	\$300.00	(3)	-16%	\$ (900.00)
10. Remove Storm catch basin	\$175.00	10	63%	\$ 1,750.00
11. Adjust storm catch basin	\$300.00	(31)	-100%	\$ (9,300.00)
12. Install and Maintain Type "D" Inlet Protection	\$95.00	(24)	-48%	\$ (2,280.00)
13. Clean and Televise Sewer (Storm only)	\$3,230.00	(1)	-50%	\$ (1,615.00)
Part 1.C. Storm Sewer Total				\$ (1,444.00)
F. Street (Concrete Pavement Alternate)				
Remove existing pavement and maintain utility trench	\$0.75	(2,690)	-24%	\$ (2,017.50)
2. Furnish and install temporary 3" HMA pavement (Oak Street)	\$31.78	(100)	-100%	\$ (3,178.00)
Sawcut existing bituminous pavement	\$2.05	(170)	-28%	\$ (348.50)
Full depth sawcut existing concrete pavement	\$3.06	(168)	-84%	\$ (514.08)
Remove existing bituminous pavement	\$1.22	(700)	-6%	\$ (854.00)
Remove existing concrete pavement	\$14.28	(88)	-88%	\$ (1,253.78)
7. Remove concrete curb and gutter	\$1.88	0	0%	\$ -
8. Remove concrete sidewalk/driveway apron	\$0.66	2,483	20%	\$ 1,638.80
9. Unclassified Excavation	\$9.74	850	11%	\$ 8,279.00
10. Furnish and install crushed aggregate base	\$9.79	2,428	27%	\$ 23,770.90
11. Furnish and install concrete pavement 7-inch (undowelled)	\$30.50	56	0%	\$ 1,706.47
12. Furnish and install concrete curb and gutter	\$24.83	(35)	-6%	\$ (856.63)
13. Furnish and install 4-inch concrete sidewalk	\$4.18	445	6%	\$ 1,859.85
14. Furnish and install 6-inch concrete sidewalk/driveway apron	\$4.59	2,038	41%	\$ 9,354.83
15. Furnish and install drill tie bars #4	\$8.16	(28)	-56%	\$ (228.48)
16. Furnish and install HMA pavement (4-inch)	\$78.95	63	21%	\$ 4,973.06
17. Install detectable warning fields (supplied by City)	\$35.70	(5)	-13%	\$ (178.50)
18. Terracing, fertilize, seed & hydromulch	\$6.90	371	12%	\$ 2,559.90
19. Install and Maintain Traffic Control	\$7,000.00	0	0%	\$ -
Part 1.F. Alternate Concrete Pavement Street Total				\$ 44,713.34
TOTAL Parts 1A through 1D			<u></u>	\$ 17,422.68

_	_
Pav	IV.

David Tenor Corporation

2759 Dewey Decker Drive

Green Bay, WI 54313

Contract No.

Contract 2-18 Miscellaneous Sewer and Water Main Construction

and Street Construction on Cecil Street and Adams Street

Water Work Order No:

387, 391

Date:

August 9, 2019

Estimate No.

Final

Account Description	Account #	Payment	Contract Breakdown	Budget	Pd to Date
Sanitary - Cecil (Oak to Congress)	046-5074-743-0236	\$8,039.97	\$193,090.00	\$210,000	\$192,900.85
Water Main - Cecil (Oak to Congress)	400-0000-207-0387	\$24,832.26	\$371,975.00	\$234,100	\$312,894.36
Storm - Cecil (Oak to Congress)	049-5258-743-0236	\$1,426.01	\$173,905.00	\$150,000	\$171,190.99
Street - Cecil (Oak to Congress)	012-4388-743-0236	\$17,302.66	\$445,000.00	\$450,000	\$490,634.16
Sanitary - Adams (RR to Church)	046-5077-743-0236	\$6,058.67	\$137,013.00	\$110,000	\$119,161.50
Water Main - Adams (RR to Church)	400-0000-207-0391	\$7,198.40	\$141,259.00	\$141,500	\$142,104.32
Storm - Miscellaneous Repairs	049-5203-743-0236	\$2,487.70	\$45,790.00	\$45,790	\$47,266.30
Street - Adams (RR to Church)	012-4392-743-0236	\$42,456.01	\$283,816.10	\$295,000	\$223,316.61
	TOTAL DUE	\$109,801.68	\$1,791,848.10	\$1,636,390	\$1,699,469.10
Liquidated Damages		(\$30,000.00)			
	NET DUE	\$79,801.68			

August 9, 2019

Prepared by Public Works Department Approved by Public Works Department

August 9, 2019

Approved by Board of Public Works

August 13, 2019

Approved by Common Council

August 21, 2019

(final payments only)

August 19, 2019

Approved by Water Commission

(final payments only)

August 22, 2019

Number of Attachments

Sent to Finance

2

City of Neenah **Public Works Department Contract Payment Form**

0.000.00.00.00.00.00.00.00.00.00.00.00.	8518,251 00		00 r25,8152		8218,251 00		00 569 61S2			Part 1 C Storm Sewer Total
Second	00 519 18	mu2 gmu.1.2.0	00 219,1\$	muz gmuj 2 0	00 51918	WAS GWAT & O	83,230,00	mu2 qmu, 1 1	83,230 00	13 Clean and Televise Sewel (Statm only)
Second	92.470.00	Ase J. BS.	00 014.58	Se Encu	00 011.58	26 Each	00 051 PS	50 Each	00 96\$	12 Install and Maintain Type 'D' Iniel Prolection
Property	00 08	O Each	00 0\$	tasa 0	00 0\$	Q Each	00 006.68	31 6ach	\$200.00	11 Advat storm catch basin
1985 1985	84,550 00	36 Esch	24,550.00	rbe 3 05	00 055 PS	36 Each	22,600,00	rbe3.81	00 5218	10. Remove Storm catch basin
1. Promote management (1)	00 009 148	doe 3 of	00 008,52	156.Each	00 009 75	16 Each	00 007,28	rbs3 6r	\$200 00	9. Remove Storm Marihole
Proposed processes 1985	00 052 96 \$	59 EPCP	\$36,250.00	39 Each	00 052 9C\$	39 Each	00 052 96\$	79 Each	81,250 00	G Furnsh and mated catch bases
1.00m 1	00 076.652	13 MA 644	00 02E EZ\$	13 PA 6 44	00 046 658	13 WW 617	254,000.00	13 19V GS	2200 00	[Fill eloritam motal listam bna Aannu 7 [
Propose Prop					00 0\$	13 UT 0	00 005 68	13 (a) 1001	00 SE\$	6 Furnish and relay 4-onth storm sewer lateral
1, From treating 1, Standard residency 1, Standard						13 UT 199	00 507,052	14 VIT 505	00 195	5 Furnish and relay 10-not scorn sewer
West	1					L		1		
Comment										
Second Comment						L		l		
Part						l		I		
Second Company Seco		13 41 607	GO GET SES	13 1 1		3.1.4.		15 1 100		
1999 1999	-0:110'00-0		100 100 1010		00 500 0254		00 00000			
1990 1990		TARY TO	1	U399 21		u5e3 c		1093 71	00.0018	
9. From the product pr			<u> </u>					l .		
1 1 1 1 1 1 1 1 1 1			l			<u> </u>		1		
1 Promote promote promote program (1990) (1			1							
1. Author person control and per						l		l		
Formary Comment (1999) 1999 199						l		L		
Part			I				l			
Figure F	00 099'6\$	13 UT 96	\$3,840.00	FI (1) 96	00 0\$	H WI O	00 000,12	13 m SS	240.00	
Control Cont										
Committed Comm	19 505.58	13 WY 40\$	78 565 Z\$	14 mJ 702	00 0\$	13 mJ 0	00 890 28	13 UFT 00F	ži 5\$	
1										
The control of the	00 0\$	13 47 0	00:0\$	17 mJ 0	00 0\$	13 th 1 0	21 300 00	13 (d.) 00f	815 00	14. Furnish & install 1.25 inch service from ROW to
Third Common Third Third Common Third Third Common Third T	00 0\$	13 10,1 0	20 00	13 mJ 0	00 02	13 10 0	00 008,12	14 UT 05	00 98\$	52. Furnish & mater 1 25-incheennce from ROW to house by exce
Third between the party sharest shar	00 000 908	30 6ach	00 000 90\$	30 Esch	00 000 9C\$	42€3 QC	00 000 96\$	30 Esch	\$1,200 00	12 Furnah & wisted 1 25-meh short side gennee
March Marc	00 000 EE\$	72 Each	\$33,000.00	33 E9CU	00 000 CES	23 E#CP	00 000 EES	33 EPC)	00 005 18	Paring Schit Errol Abril-CS, f. Batari & dantaj 1 . f.f.
Particular Residence	00 057.18	Ab&3 F	00 05/ 15	ros3 r	00 051 18	f Each	00 05£ 1\$	1 Each	00 021.18	93mine Bude north Ann-S daten & dainty Or
Part	00 05/ 6/8	rae3 Or	00 05Z E1 2	rb#3 0r	00 057 618	10 Each	813,750.00	rbs3 01	00 SYE, P.2	rad by with 8 trains 8 trains 4 terms 4
Part	00 011 64	S Each	00 017 A8	2 Each	00 024 9%	3 E9¢9	00 077 112	2 Each	00 500 68	Furnish & mates 12-noth valve w/ box
Windle W	\$38 320 00	6.Ench	00 052 958	rba.3 č	00 052 96 \$	2 Each	878 320 00	4943 \$	00 059 28	sod he sylay rion-at Balan & riaming T
### Standing Street Address Street St	00 9E9 6\$	ाउँ। कि हा	00 BE > 6S	13 47 151	00 909 1 \$	13 mJ 61	00 076 88	13 WT S11	00 878	6 Funch Smits 6-mon PVC C-900 man
Princip design Parcel Stores & Administry Servers Se	00.819.812	13 WT PEZ L	00.878,8	Finites,r	00 568,578	13 WT ELZ'L	\$65 608 00	13 643 (44,1	00 F9\$	5 Furnish &matell 8-moh PVC C-900 mam
Secondary Several Edition	00 096 612	13 10 151	00 096,618	13 I FED E.E.	00 038 018	13 1/1 99	00 009'5\$	ध एग ५६	00 091\$	4 Furnish Bristall 10-inch PVC C-900 main
Second Street Second Stree	00 009'5\$	13 mJ 65	00 005'5\$	14 mJ 85	00 000 113	13 161 65	00 000'11\$	14 NJ 25	\$500.00	2 Furnish Empirel 12-inch PVC C-800 mem
1 1 1 1 1 1 1 1 1 1		l	00 117,8818	13 141 158,1	00 818,6218	1 494 1963	8 106 530 00	19 00 1 00 60 1	00 16\$	S Furnen Brinsal 16-inch PVC C-900 main
Funds and the stands and the stand	08 578,748	14 01.1 ETP.!	839,522 50	13 47 E60'L	836 000 00	13 01 000	822,000,00	13 mJ 009,r	05 26\$	1 Rock Removal
Monthly Second Report Mont								l		nisk totsW.8
William Will	00.565,0554	<u> </u>	2320,393.00		98 615,5168		00 501,0552	-		IsloT towed Yishins& A.f. had
DESCRIPTION DESCR		upe 4 Z		S Esch	·	0 Esch	00 008\$	2 Each	2100 00	(Ilita) pod Ytivio) ofortnam ytaknas jęvyto. Er
DESCORDATION DESCRIPTION DESC		1 .			L	I	1	ı		JS Cresu and Televise Sewel (Sandary only)
Desid Scholttown for the process and the proce	1					t				
DESCRIPTION DESCR	1		1	1	1	I	l	1	1	
Describing Sevent and toldy 3 coch Section Allowed Section Section Section Sevent Seve	1		1	l	1	1	_		1	·
DESCRIPTION Total Store Adams Street Adams Ada	P.	l	1	I	1			1		l
DesCRIPTION (winner) Fired Tries of the control of	I.				l .		l	1	ı	l l
DesCRIPTION (windly prince) Adams Street Ada		L .		i				}	1	
DESCRIPTION (with the proof of		1		1	1	1	l	1		
DESCRIPTION (during) (and filter) (and filte	l .	L		1	1	1		1	l	I
Desicial Survey B Adams Silvey! Desicial Survey B Adams Silvey B Ada	1		1			l		1		
DESCRIPTION Unit Price Quantity Total Quantity Total Quantity Total Quantity Total Quantity Total Service Description Total Service Description Total Service Description Total Service Total Total Service Total	1		1	1		I	i	ł		
DESCRIPTION Total Quantity Total Qua	l			1	I		L	l .		
DESCRIPTION Country Total Quantity Total Quantity Total Quantity Total Quantity Total Quantity Total Quantity Total	00 020 5\$	13 47 65	00 070 22	73 (m) 87	00 010,28	13 04 67	00 247.42	13 01 57	00 598	
DESCRIPTION Link Price Quantity Total Quantity Total Quantity Total Quantity Total						ļ				i
								<u> </u>	ļ	
olemita leni									Unit Price	NOESCRIPTION
	L	olemitā isniā	_L	. All Atemits 3					l	<u> </u>

	7	Crigina	Pia	Aslimate	Am 4	Estimato No.		Final Estimate	
ok sichiption	Unit Frice	Quartity	Polar	O.LERDIY	Total	Quentity	iciol	OMBILL	Total
					1				
Street (Concrete Pavemont Affer nete)	1075	12 CPC 1-4 F1	15,250.00	0,310 tm 51	15,252,56	euric fi	10.202.02	0215155 FI	\$6.737.50
Homore every territoria and mentan select build		16.50.10	12.775.00	1: 50 YeL	1	2817		3 25 T2	
Franchistat explications at 10th paratical fire thank	\$23,76		32.77.27	200.16.2	\$220.50	490 50 19	20110	439 1 50 11	
Samuel and the making township	1235	600 lib ft		22 (0.1)	13.45	17 10 21	34:85	2019	367.9%
Fin deput saucia estilari se otroje paverosti					\$ 25,355,00	1 60 sq 5g	134,350,00	11,60% Sq. YA	\$14,070,00
Remove an along the campain programmed		18.600.06.10	11576788	11,800 56,74	2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2	15. 56. 70 -	\$174.77	12 Sq. Yo	3174 92
Reconstructing conclude parement	33436	169.69.7P	1.32.00	70 21 June	1	1,405,00,102,61	\$ 12 002 00	e copy of the fit	\$12 017 60
Require opicion cultistic guid?	31.85.		TASKE.	_ 603261	THE STATE OF	•••	14 (42 00)	14 993 (N CG F)	15.500.55
Remove countries array and Assessment East	1995	_1215/47:27:			\$4,629.35	1,630,44, 49 +1	141,379,59	4,550,30 O. YI	101,326,00
Contracted Department	\$9.15	1505 Ct 15	727670	138_E1_11	\$61,827.94	E 154:00 En 30	\$111.017.70	11,420.05 Fen	\$ 11,960.00
10 Funda and ental coursed and chair have	19 75	2 OUR. 709	395,130,00	1400 100	374475.00			13.055.25 Sq. ye	1 196 NG 41
1" Cunen and mulal concere property (and (strongs))	13252	1500 50 Vo	3.775.55			. M. S. D. La	19139156		
17 turnen and must servere even any single	\$26.83	#ii.aru	1. 3:40%12	July testi	97,493,60	المستنك على على المستدون			312,799 8
to Figure and count depote transcript schools	14.04	1,000, 54, 51	Lauren	1 1 . 1	44,9200	279074.84.Fi	\$24,062.13.	7 948 94 (5g 6)	
14 Ferner and justice & much tone the automatical way apoin	\$4 59	500 44	372 940 00	160 541	34.552/0	11111-619	\$22,845.72	7,038,09 50 51	\$12,164.01
th French and entral mater (421 MI	58 10	JA ENT.	1 1000 0;	6.134	100	7 DS	\$179.50	22 Fach	\$179.5
	175.54	1	173795.22	42 Ten	13.164.0	£2.55 lm	.s.mesege	197.29.16.	Lit 65a G
16 Franch and ment thin powerful (4-975)	18.12	460	\$1,350.61		1400.40	22010	\$1,176.10	328 Gar	53,378,39
11 manificulty arts watering to 22 about 12 SASAL	99.85	1	\$70.700 NO	177 59 76	10,000,00	1371 80 86 74	\$0.461.02	1271 00 50 YC	277,272.00
in leasured andto read finds their	1	r		J. Latter Bear	1	1 00 Cury Sur	27,000 00	200 1000 200	1:620
ty trees any tracks. Traffic County	1,000	1 (1071) \$22	\$276.994.10		3464 735 07		1771,202.90	<u> </u>	1772 709 4
Part 1E Atemate Concrete Pavament Surest Total	 	 	11 701 040 10	T	\$1,426 (0) 4"		\$1,744.245.30	İ	\$1,000,270,7
10141 Parts 14 through 10	ــــــــــــــــــــــــــــــــــــــ				1: 020 25141		11 704,205 30	High to Jave	\$1 RDS 273 7
		c 0 +	117 492 GA	Work See				fieldware'	100
NOTE (1) Relainage set per Well Statute 56 0971(9)		60.5		Hotarissa'		Returner ³		Dia Corkatin	\$1,509,270.7
Retainage is 5% of the estimate until 50% of the work is complete	•	C & 2		Our Course N		to se Contractor		Previously part	\$1665.469.1
At 50% exergistion include Serial amounts are retained		L	\$1 NO. 270 78	Promassly pard		- Pren ayde paid 	1	7	\$100,001 8
for Emplemental word with Alamajo				(Nation of the sale)	12 194,004	JUE TIS ESSENCE	\$115,001.6T	The tive estimate	1 3100,010

Set Cue

Respectivity substituted

Greater of Public Works

Coversion Signature



Department of Public Works
211 Walnut St. • P.O. Box 426 • Neenah WI 54957-0426
Phone 920-886-6241 • e-mail: gkaiser@ci.neenah.wi.us
GERRY KAISER, P.E.
DIRECTOR OF PUBLIC WORKS

MEMORANDUM

DATE: August 7, 2019

TO: Mayor Kaufert and Members of the Board of Public Works

FROM: Gerry Kaiser, Director of Public Works

RE: Contract 1-18, Final Payment 2

At the last Board meeting I stated that I would provide an explanation of the request for a second final payment on Contract 1-18 (Miscellaneous Sewer and Water Main Construction and Street Construction on Andrew Avenue, Richard Avenue, Geiger Street and Whiting Court). The prime contractor was Dave Tenor Corporation, Green Bay. Here is a listing of the events that led to this request.

- Prior to processing the final payment estimate, staff received the asphalt tickets from the prime contractor.
- In the course of preparing the final payment estimate, some of those tickets were inadvertently left out of the estimate calculation.
- The final estimate was sent to the prime contractor for review and approval, which was received on January 25, 2019.
- On February 6, 2019, the Council approved the final payment for Contract 1-18 to in the amount of \$31,620.32.
- The City issued payment to the prime contractor in that amount.
- The paving subcontractor contacted the prime contractor to report an underpayment.
- City staff investigated and confirmed an underpayment in the asphalt quantity of 393.57 tons.

In my view, there is no doubt that the prime contractor is owed the money for this work.

This is the first time that I am aware of something like this happening. Regardless, it has spurred us to consider some changes to our contract closeout processes involving internal review of final estimates, requiring lien waivers from the contractor, and/or having the prime contractor and all subcontractors sign off on the final payment estimate.

Pay To:

David Tenor Corporation

2759 Dewey Decker Drive

Green Bay, WI 54313

Contract No.

Contract 1-18 Miscellaneous Sewer and Water Main Construction

and Street Construction on Andrew Avenue, Richard Avenue,

Geiger Street and Whiting Court

Water Work Order No:

388, 389, 390, 392

Date:

August 9, 2019

Estimate No.

Final 2

**************************************		Contract			
Account Description Account #	Payment	Breakdown	Budget	Orders	Pd to Date
Sanitary - Andrew (Geiger to Main) 046-5075-743-0236		\$109,293.50	\$130,000		\$118,259.42
Water Main - Andrew (Geiger to Main) 400-0000-207-0388		\$113,496.00	\$124,800	\$2,500	\$116,234.97
Storm - Miscellaneous Repairs 049-5203-743-0236	1	\$39,054.00	\$39,054		\$42,558.00
Street - Andrew (Geiger to Main) 012-4389-743-0236	\$5,453.00	\$122,000.00	\$140,000		\$122,760.69
Sanitary - Richard (Geiger to Main) 046-5076-743-0236		\$111,463.50	\$130,000		\$123,310.33
Water Main - Richard (Geiger to Main) 400-0000-207-0389	1	\$111,646.00	\$127,100	\$2,000	\$118,121.76
Storm - Miscellaneous Repairs 049-5203-743-0236	1	\$16,542.00	\$16,542		\$15,829.00
Street - Richard (Geiger to Main) 012-4390-743-0236	\$5,453.00	\$122,000.00	\$140,000		\$143,382.18
Sanitary - Geiger (Green Bay to Western) 046-5001-742-0236		\$3,950.00	\$3,950	-	\$5,763.96
Water Main - Geiger (Green Bay to Western) 400-0000-207-0390		\$131,270.00	\$157,500	\$7,004	\$138,396.51
Storm - Miscellaneous Repairs 049-5203-743-0236		\$43,865.00	\$43,865		\$43,233.80
Street - Geiger (Green Bay to Western) 012-4391-743-0236	\$6,738.27	\$194,774.00	\$220,000		\$173,229.13
Water Main - Whiting (Tullar) 400-0000-207-0392		\$27,715.00	\$31,800	\$5,000	\$32,465.00
Storm - Miscellaneous Repairs 049-5203-743-0236		\$0.00	\$3,836		\$5,534.99
Street - Whiting (Tullar) 012-4393-743-0236	\$3,817.10	\$52,343.98	\$60,000		\$54,062.33
SUBTOTAL	\$21,461.37				
Contract Deadline Penalty - Deduc	t				(\$3,000.00)
TOTAL	\$21,461,37	\$1,199,412,98	\$1,368,447	\$16,504	\$1,250,142,07

Prepared by

August 9, 2019

Approved by Public Works Department

August 9, 2019

August 9, 2019

Approved by Board of Public Works

Approved by Common Council (final payments only)

Approved by Water Commission

(final payments only)

Sent to Finance August 22, 2019

Number of Attachments

2

August 13, 2019

August 21, 2019

February 7, 2019

City of Neenah Public Works Department Contract Payment Form The following is the Final Payment for Contract 1-18, Miscellaneous Sower and Water Main Construction and Street Construction on Andrew Avenue, Richard Avenue, and Geiger Street. Io David Tenor Corporation, 2759 Dewey Decker Drive, Green Bay WI, 54313

		Original Bid		Final Payn	ient	Final Payment 2		
DESCRIPTION	Unit Price	Quantity	Total	Quantity	Total	Quantity	Total	
Part 1 - Andrew Ave., Richard Ave., Geiger St., Whiting Ct.								
A. Sanitary Sewer								
1 Furnish and relay 8-inch PVC sanitary sewer	\$50.00	1,920 Lin. Ft.	\$96,000.00	1,920 Lin. Fl.	\$96,000.00	1,920 Lin Ft	\$96,000.00	
2. Furnish and relay 6 inch sanitary lateral in ROW (61)	\$39.50	1,800 Lin. Ft.	\$71,100.00	1,145 Lin. Fl.	\$45,227.50	1,145 Lin Ft	\$45,227.50	
3. Furnish and relay 6 inch sanilary lateral ROW to house	\$36.00	100 Lin. Ft.	\$3,600.00	0 Lin. F1.	\$0.00	O Lin. Ft.	\$0.00	
4 Furnish and pipeburst santary lateral	\$15.38	400 Lin. Ft.	\$6,152.00	1,690 Lin. Ft	\$25,992.20	1,690 Lin. F1.	\$25,992.20	
5. Reconnect sandary lateral at foundation - pipeburst	\$1,535 00	2 Each	\$3,070.00	1 Each	\$1,535 00	1 Each	\$1,535.00	
6. Reconnect under basement floor - pipeburst	\$1,790.00	13 Each	\$23,270.00	33 Each	\$59,070 00	33 Each	\$59,070.00	
7. Reconnect lateral to wye at main	\$250 00	3 Each	\$750 00	3 Each	\$750.00	3 Each	\$750.00	
8 Furnish and Install Standard manhole (6)	\$280 00	56 Ver. F1.	\$15,680 00	55 8 Ver Ft	\$15,624,00	55 8 Ver. Ft.	\$15,624.00	
9 Remove sanitary manhole	\$250.00	6 Each	\$1,500.00	6 Each	\$1,500.00	6 Each	\$1,500.00	
10. Adjust sanitary manhole (with slurry backfill)	\$400.00	6 Each	\$2,400.00	2 Each	\$800.00	2 Each	\$800.00	
11. Clean and Televise Sewer (Sanitary only)	\$1,635.00	1 Lump Sum	\$1,635.00	1 Lump Sum	\$1,635.00	1 Lump Sum	\$1,635.00	
Part 1.A. Sanitary Sewor Total			\$225,157.00		\$248,133.70		\$248,133.70	
B. Water Main								
1. Furnish &install 16-inch PVCO C-900 main	\$82,50	1,236 Lin. Ft.	\$101,970.00	1,241 Lin. Ft.	\$102,382.50	1,241 Lin Fl.	\$102,382.50	
2. Furnish 8install 10-inch PVCO C-900 main	\$55.00	10 Lin. Fl.	\$550 00	0 Lin. Ft	\$0.00	0 Lin Fl.	\$0.00	
3. Furnish & install 8-inch PVCO C-900 main	\$52.00	2,400 Lin. Fl.	\$124,800.00	2,396 Lin. Ft	\$124,592.00	2,396 Lin. Ft.	\$124,592.00	
4. Furnish & install horizontal 16-inch valve w/ box	\$7,960.00	2 Each	\$15,920 00	2 Each	\$15,920.00	2 Each	\$15,920.00	
5. Furnish & install 8-inch valve w/ box	\$1,285.00	4 Each	\$5,140 00	4 Each	\$5,140.00	4 Each	\$5,140.00	
6 Furnish & install 8-inch tapping valve w/ box	\$3,300 00	1 Each	\$3,300,00	1 Each	\$3,300.00	1 Each	\$3,300.00	
7. Furnish & install 4-inch valve w/ box & reconnect service	\$835 00	1 Each	\$835 00	1 Each	\$835.00	1 Each	\$835.00	
8. Furnish & install 2-inch short side service	\$1,695.00	1 Each	\$1,695.00	1 Each	\$1,695.00	1 Each	\$1,695.00	
9. Furnish & install 1-inch tong side service	\$1,490 00	31 Each	\$46,190.00	31 Each	\$46,190.00	31 Each	\$46,190.00	
10. Furnish & install 1-inch short side service	\$1,000.00	32 Each	\$32,000.00	32 Each	\$32,000.00	32 Each	\$32,000.00	
11. Reconnect copper service	\$750.00	7 Each	\$5,250.00	7 Each	\$5,250.00	7 Each	\$5,250.00	
12. Furnish & install 1-inch service from ROW to house by excavate	\$35.00	25 Lin. Ft.	\$875.00	O Lin. Ft.	\$0.00	O Lin. Ft.	\$0.00	
13. Furnish & install 1-inch service from ROW to	\$12.00	75 Lin. Ft	\$900.00	O Lin. Ft.	\$0.00	O Lin. Fl.	\$0.00	
house by excavation in same trench as son, lateral			\$0.00	o	\$0.00	0	\$0.00	
14. Furnish & install 1-inch service from ROW to	\$5.13	400 Lin. Ft.	\$2,052.00	1,075 Lm. Ft.	\$5,514.75	1,075 Lin. Fl.	\$5,514.75	
house by pulling w/ sanitary sewer pipeburst			\$0.00	0	\$0.00	0	\$0.00	
15. Furnish & install 1-inch service from ROW to house by pulling	\$33 00	25 Lin. Ft.	\$825 00	O Lm. Fl.	\$0.00	O Lin Ft.	\$0.00	
16. Water service connection to structure	\$360.00	15 Each	\$5,400,00	27 Each	\$9,720.00	27 Each	\$9,720.00	
17. Furnish & install hydrant, lead and valve	\$4,575.00	7 Each	\$32,025 00	7 Each	\$32,025 00	7 Each	\$32,025 00	
18. Abandon hydrant	\$250 00	6 Each	\$1,500,00	5 Each	\$1,250.00	5 Each	\$1,250.00	
19. Abandon Valve manhele	\$300.00	2 Each	\$600.00	3 Each	\$900.00	3 Each	5900 00	
20. Abandon Valve Box	\$150.00	10 Each	\$1,500.00	8 Each	\$1,200.00	8 Each	\$1,200.00	
21. Furnish & install electrical grounding	\$200.00	4 Each	\$800 00	4 Each	\$800.00	4 Each	\$800.00	
CO1.1 Added 2-16" bends to get under storm	\$3,300.00	LS	\$0.00	1 LS	\$3,300.00	1 LS	\$3,300.00	
CO1.2 Whiting Court rock, moving of main	\$5,000.00	LS	\$0.00	1 L\$	\$5,000.00	1 LS	\$5,000.00	
CO1.3 4" Water main	\$2,204.00	LS	\$0.00	1 LS	\$2,204.00	1 LS	\$2,204.00	
CO1 4 Water Breaks	\$500 00	Each	\$0.00	9 Each	\$4,500 00	9 Each	\$4,500.00	
CO1.5 Grinding time for oversized 14"	\$1,500.00	LS	\$0.00	1 LS	\$1,500.00	1 L\$	\$1,500.00	
Part 1.B. Water Main Total			\$384,127.00		\$405,218.25		\$405,218.25	

			1	Final Payme	_{nt} [Final Paymen	£ 2
		Original B	Total	Quantity	Total	Quantity	Total
DESCRIPTION	Unit Price	Quantity	10.5		1		
C. Storm Sower				(2 tip 6)	\$10.406.D0	43 Lin. Ft	S10,406.00
Furrish and relay 24 inch storm sewer	\$242.00	50 Len Ft	\$12,100,00	43 Lin F1	\$31,416.00	616 Ln F1	\$31,416.00
Furnish and relay 12-inch storm sever	\$51,00	545 Lin Fi	\$27,785.00	\$18 Lm F1	\$10,519.00	459 Lin FL	\$10,819.00
Filmsh and reay 10-inch morn, sewor	541 00	400 tai Et	217 (30 00	40.15.[1		117 Lin Fi	53,510,00
Furnish and rates 4-inch storm sower lateral	530 00	120 Lm Ft	\$2,000.00	117 16 FL	\$3,5:0.00	47 Ver FI	\$14,624.00
5 Furnish and install storm manhon (6)	\$320 00	47 Vev. F1	\$15,040,00	. 47 Vor. Ft	\$14,824.90		\$19,440,00
G. Femish and include catch basin	\$1,215.00	14 Epot	117,010.00	16 Each	519,440,00	16 Feeth	
Remove Storm Manhale	\$250.00	? Esch	\$1,750.00	7 Fach	<u>\$1,760.00</u>	7 Fach	\$1,750.00
	\$175.00	10 Each	\$1,750.00	10 Each	27,150,00	10 Each	\$1,760.60
8 Romove Storm esten basin	1350 00	4 Each	\$1,400.00	3 Each	\$1.000.00	3 Each	\$1,050.60
9 Adjust storm (nachole (w/ s'urry baciful)	\$300.00	4 Each	\$1,200,00	2 Fach	\$600.00	2 Fac	\$600.00
10. Adesst storm cytch basin	\$95.00	20 Each	\$1,000,00	24 Each	12,280 GO	24 Each	\$2,280,00
11 Install and Mantain Type "D" Inlet Protection	\$1.210.00	1 Lunap Sum	\$1,210.00	1 Lump Sum	\$1,210.00	1 Lune Sun	\$1.21000
12. Clean and Tulevise Sewer (Slorm only)	\$1.2.0.00		\$101,785.00		\$107,155 80		\$107,155 60
Port 1 C. Storm Sewer Total							
D. Street (HMA Pavement)			\$4,300.00	6,481 Lin. Ft.	\$4 660 75	6,48: Lin Fl	\$4,880,75
Remove existing pavement and maintain utility transft	\$0.75	A,400 Lin FL		100.00 Lin FL	\$200.00	100.00 Un Ft	\$200 00
2. Sewout conting biluminous perjement	\$2 00	200 Lin Fl.	\$400,00		1393 00	195 50 Lin Fl	5393 00
3. Full depth cawoul existing concurre opversent	\$2.00	300 Lin FI	1603.00	196 50 Lin Ft	\$70,100.00	14,000 Sq Yd	\$20,160.00
4 Remove entiting biluminous pavernors	<u> </u>	14,000 Sq. Yd	\$20,160.00	14,000 Sg Yd	\$1,356.61	109 92 Sq. Yd	\$1,358.61
5. Remove concrete pevernent	\$17.35	250 Sq Yd	\$3,090,00	109 92 Sq Yd		2.274 00 Lin Fl	\$5,525 87
6 Remove concrete curb and guitor	<u>\$2.43</u>	1 600 Lin Ft	\$3,686.00	2,274 00 Lin Fl	\$5,525,82	3 220 11 Sq Ft	\$1,545.65
7. Remova concrete sidewalk/drivaway apron	\$0.48	10,000 Sq. Ft	\$4,600.00	3 220 11 Eq. Ft	\$1,645.65		
0 Unclassified Excavation	\$6,53	5,000 Cu Yo	\$47,660.00	6,005 Cu Yd	<u> </u>	5,805 Cu Ya	\$55,371,60
9 Furnish and esstat geogrid (Geicar St. & Whiting CL)	£1 55	6,250 Sq Yd	19,507 50	6772 Sq Yc	\$10,496 60	6,772 Sq Yd	\$10,498 60
10 Furnish and state counted appropriate base	\$10.61	7,500 Ton	\$79.575.00	10.582.21 Ton	\$112,277.25	10,582.21 Ton	<u>5112,277.25</u>
11. Furnish and install 30-inch concrete outs and califur framous loc	\$23.05	1,600 Lin Ft	\$36,860.00	2 274 00 Lin FI	\$52,415,70	2,274 00 Lin Ft.	\$52,415.70
	\$5,50	7,500 Sq. Ft	\$41,250.00	2 666 71 Sq Ft	\$14,666.91	2,008.71 Sq Ft	\$14,668.51
12. Furnish and Install 4-righ concrete sidewalk	\$5.60	2,500 5g Ft	\$14,750.00	1 320 54 Sq. Ft.	\$7,644.29	1,329 54 Sq Ft	\$7,844.79
13, Furnish and Install 6-inch concrete sidewall/driveway goron	\$59.40	250 6g Ya	\$14,850.00	109 92 Sq Yd	EG 529.25	109 92 Sq Yd	\$5,520,25
14. Furnish and sistol 8-inch concrete pavement repair	\$7.18	100 Esch	\$718.00	48 Each	\$344 64	49 Each	\$344.6
15 Famish and equal dril le bars 69	\$11.26	64 Each	\$721.92		\$1,082.88	96 Each	\$1,082.8
15. Furnish and ristall drill down! bars #9	\$1.16	14,000 Eq. Yo.	\$16,240.00		\$16,240 CO	14,060 Sq Yd	\$16,240.00
17. Fine grading and base proparetion		1	1		\$155,410.50	3,243.67 Ton	5176,871.8
18. Furnish and install HMA Pavament	\$54.63	3,200 Ten	\$402.00		\$1,581.70	2,360 Un FL	\$1,581.2
19 Furnish and instell 1/2-mich rods	\$0.67	GOO LIN FI			\$322.92	6 Each	\$322.0
20 Install desectable warning fields (supplied by City)	\$35 P6	12 Ecch	\$430.50	745 74 55 74	1:8,956.71		\$18,9567
21. Terracing, ferlitza, sead & hydromulch	\$25.42		\$8,355.00		i		
22 Instell and Melita's Traffic Control	\$5,100.00	1 Lump Sum	\$5,100,00	1	\$492,834.32	1	\$514,095,6
Part 1 D. Street Total		 	\$489,343 98	T			\$1,274,603.4
TOTAL Peri 1			\$1,169,412.98		\$1,253,142.07	1	
TOTAL Parts 1A through 10	<u> </u>	<u>L</u>	\$1,199,412.98		\$1,253,142.07		\$1,274,603.4
		ccı	\$16,504.00	Work to date		Work to date	\$1,274,603.4
NOTE (1) Betarane set per Wei Statute 66.0901(9).		C Q 2	\$37,225,69	Retainuge ¹	\$0.00	Rateinage ¹	\$0.0

C 0. 2

C 0 3

NOTE (1): Retainage set per Wei Statute 66,0901(9). Returnage is 5% of the estimate unit 50% of the work is completed At 50% numpletion, no additional amounts are relained. For Final Estimates, there is no returnage

\$37,225.69 Retainuge \$1,274,603.44 \$1,253,142,67 Due Contractor Oue Contractor \$1,250,142.07 \$1,218,52).75 Previously paid \$1,253,142.07 Previously paid \$34,620.92 Due this ostimate Due this estimate -3,000.00 Uquicated Damagus Liquidated Damages 31,620 32 Not Due Net Duc

524,461,17

-3,000.00

21,401 37

Respectfully submitted,

Director of Punho Works

Contractor Signature



Department of Parks & Recreation

phone: 920-886-6062

mkading@ci.neenah.wi.us

fax: 920-886-6069

TO: Mayor Kaufert and members of the Board of Public Works

FROM: Michael T. Kading, Director of Parks & Recreation

DATE: August 9, 2019

RE: Washington Park – Pay Request #7

Please excuse my absence from the meeting as I will be helping out at "A Day in the Park for the Young at Heart" (formerly Fox Cities Senior Games).

Attached you will find Pay Request #7 from R & R Wash Materials, Inc, Ripon WI in the amount of \$77,649.84 for work completed through August 8.

The work completed includes:

- Placement of the prebuilt restroom / concession building that was placed on Monday, August 5. This item represents 52% of this pay request at \$41,040.
- The balance of the request is for assembly and installation of site furnishings, clear stone and site restoration.

Schedule moving forward (weather permitting):

- Balance of site concrete: week of August 12
- Discovery Field play surfaces: week of August 12
- Trail Asphalt: week of August 19
- Site Restoration: ongoing
- Color coating of the courts: week of August 26
- Finish site furnishings: ongoing

Grand Re-opening Celebration – Saturday, September 14; 10a – 1p

Should you have any questions, I will be in the office most of the day on Monday, August 12.

Creating Community Through People, Parks & Programs

REQUEST AND CERTIFICATE FOR PAYMENT

PF	ROJECT	. Was	shington Park	Phase III	ENGINEER:	Ay	res Associ	ates		
					ENGINEERS PROJECT	r NO:				
sı	JBCONT	RACTOR:			CONTRACTOR:					
		_				1110 Dartfo	rd Road, l	Ripon, WI	54971	
					CONTRACT NO.:				O. Box 1161	
					REQUEST DATE:	August 8, 2019	REQUES	REQUEST NO:		
					PERIOD FROM:	July 24, 2019	TO:	August 8, 2019		
CI	ANGEO	ER SUMMARY			Request is made for Pay	yment, as shown below, i	n connection	with the Cont	ract.	
П	<chan< td=""><td>ge Orders</td><td>ADDITIONS</td><td>DEDUCTIONS</td><td>CONTINUATION SHEE</td><td>T, is attached.</td><td></td><td></td><td></td></chan<>	ge Orders	ADDITIONS	DEDUCTIONS	CONTINUATION SHEE	T, is attached.				
	PP	previously			The present status of the	e account for this Contrac	ct is as follows	S:		
Ц	Blake 1	TOTAL	\$0.00	\$0.00	ORIGINAL CONTRA	CTSUM		\$1,1	46,206.04	
	Theisen	Approved (date)		0 82,500,00 \$2,500,00	Net change by Chang	je Orders	DE: raffic Contro	\$2	1,246.26	
П	en a	###	\$4,246.26	\$25.00	CONTRACT SUM TO	DATE	hari ton eac	\$1,1	50,452.30	
	at 9:16			\$705.00 \$705.00		TOTAL COMPLETED AND STORED TO DATE RETAINAGE 3.0% of Completed and				
	s am,			5077 SS87.50 5088 S387.50	Stored to Date	70 Osmpiotod di		\$2	8,632.69	
		ALS	\$4,246.26	\$0.00	TOTAL EARNED LES	SS RETAINAGE		\$92	25,790.38	
	Aug (00.3046	LESS 1% BID BOND	COST				
Ne	et change	by Change Orde	ers	\$4,246.26	LESS PREVIOUS CE	RTIFICATES FOR PA	YMENT	\$84	18,140.54	
Sta	2019 ate or.	Wisconsin	County of:	Winnebago	CURRENT PAYMEN	T DUE		\$7	7.649.84	

In accordance with the Contract and this Application for Payment the Contractor is

entitled to payment in the amount shown above.

The undersigned Contractor certifies that the Work covered by this Application for Payment has been completed in accordance with the Contract Documents, that all amounts have been paid by him for Work for which previous Certificates for Payment were issued and payments received from the Owner, and that the current payment shown herein is now due.

Contractor: R&R Wash Materials, Inc.

8118/2019

SOUTHPAW FENCING, LLC W7030 Falcon Avenue Tony, Wil 54563 745.000,0008

MINNEBAGO COUNTY CTH CB (SHADY LANDE TO CTH 8B)

		Fedilizer Type B		

CONTINUATION SHEET

REQUEST AND CERTIFICATE FOR PAYMENT, containing

CONTRACTOR'S signed Certification is attached.

PROJECT NAME:Washington Park Phase III

REQUEST NUMBER:

7

ENGINEERS PROJECT NO:

ITEM	DESCRIPTION	SCHED	ULED	UNIT			Work Com	pleted		ENGINEERS F		npleted and	
NO.	OF WORK	QUANTIT		PRICE	Previous	Request (E)		quest (F)	Stored M	laterials (G)		Date (E+F+G)	%
(A)	(B)	(C)		(D)	Quantity	Amount	Quantity	Amount	Quantity	Amount	Quantity		Col
						Dark sent specifies							_
1	Mobilization	1	LS	\$64,000.00	.95	\$60,800.00		\$-		\$-	0.95	\$60,800.00	-
2	Erosion Control	1	LS	\$7,300.00	1.00	\$7,300.00		\$-		\$-	1	\$7,300.00	_
3	Demolition	1	LS	\$20,900.00	1.00	\$20,900.00		\$-		\$-	1	\$20,900.00	<u></u>
4	Earthwork	1	LS	\$80,800.00	1.00	\$80,800.00		\$-		\$-	1	\$80,800.00	
5	Base Aggregate Dense	4000	Ton	\$12.75	4369.95	\$55,716.86		\$-		\$-	4369.95	\$55,716.86	
6	Clear Stone	500	Ton	\$14.00		\$-	188.67	\$2,641.38		\$-	188.67	\$2,641.38	
7	Asphalt Pavement	910	Ton	\$109.00	433	\$47,200.27		\$-		\$-	433.03	\$47,200.27	
8	Concrete Pavement, 4"	9843	SF	\$5.10	8000	\$40,800.00		\$-		\$-	8000	\$40,800.00	
9	Concrete Pavement, 5"	4583	SF	\$5.50	3500	\$19,250.00		\$-		\$-	3500	\$19,250.00	
11	Concrete Pavement, 5" Reinforced, Colored	2846	SF	\$14.35	2600	\$37,310.00		\$-		\$-	2600	\$37,310.00	
12	Concrete Pavement, 6"	237	SF	\$10.20		\$-		\$-	1450	\$-	0	\$-	
13	Std Concrete Curb and Gutter, 18"	32	LF	\$50.00		\$-	32	\$1,600.00		\$-	32	\$1,600.00	
14	Std Concrete Curb and Gutter, 30"	10	LF	\$50.00		\$-		\$-		\$-	0	\$-	
15	Detectable Warning Panels	20	SF	\$30.00		\$-		\$-		\$-	0	\$-	
16	4" Underdrain	704	LF	\$25.20	706	\$17,791.20		\$-		\$-	706	\$17,791.20	
17	6" Underdrain	160	LF	\$36.70	160	\$5,872.00		\$-		\$-	160	\$5,872.00	
18	4" PVC Storm Pipe	165	LF	\$36.90	86	\$3,173.40		\$-	nose	\$-	86	\$3,173.40	
19	6" PVC Storm Pipe	160	LF	\$37.00	101	\$3,737.00		\$-	or	\$-	101	\$3,737.00	
20	8" PVC Storm Pipe	409	LF	\$38.00	395.00	\$15,010.00		\$-		\$-	395	\$15,010.00	
21	10" PVC Storm Pipe	244	LF	\$40.00	277	\$11,080.00		\$-		\$-	277	\$11,080.00	
22	24" HDPE Storm Pipe	724	LF	\$55.00	725	\$39,875.00		\$-		\$-	725	\$39,875.00	
23	Yard Inlet	3	EA	\$1,650.00	2	\$3,300.00		\$-		\$-	2	\$3,300.00	
24	24" Inlet	9	EA	\$1,280.00	8	\$10,240.00	· · · · · · · · · · · · · · · · · · ·	\$-	E1-21-1000011-31	\$-	8	\$10,240.00	
25	Storm Manhole	2	EA	\$2,000.00	2	\$4,000.00		\$-	THE VENEZUE	\$-	2	\$4,000.00	
26	Connect to Manhole	7	EA	\$1,250.00	00-082 7	\$8,750.00		\$-	medaelm	\$-	7	\$8,750.00	
	6" Sanitary Service	188	LF	\$47.00	212	\$9,940.50		\$-		\$-	211.5	\$9,940.50	
	Tap Watermain	1	EA	\$4,300.00	1	\$4,300.00		\$-		\$-	1	\$4,300.00	
29	Water Service, 4"	276	I F	\$51.00	297	\$15,147.00		\$-		\$-	297	\$15,147.00	
30	Water Service, 3"	230	I.F.	\$46.00	279	\$12,834.00		\$-	10 00 10	\$-	279	\$12,834.00	
31	Foul Pole	2	EA	\$1,500.00	2.0	\$3,000.00		\$-	LUCY1 E	\$-	2	\$3,000.00	
32	Bleachers	3	EA	\$3,000.00	2.0	\$6,000.00	1	\$3,000.00	notytu s	\$-	0.00 3	\$9,000.00	
33	Player Bench	5	EA	\$1,120.00	1.0 E	. \$-	5	\$5,600.00		\$-	5	\$5,600.00	
	Tennis/Pickleball Court Surfacing	18868	SF	\$1.00		\$-	7	\$-		\$-	0	\$-	_
	Tennis Equipment	2	EA	\$890.00	2	\$1,780.00		\$-		\$-	2	\$1,780.00	
	Pickleball Equipment	2	EA	\$890.00	2	\$1,780.00		\$-		\$-	2	\$1,780.00	
	Shade Structure – Type 1	2	EA	\$10,000.00	1.75	\$17,500.00	0.25	\$2,500.00		\$-	2	\$20,000.00	
	Shade Structure - Type 1	2	EA	\$12,000.00	1.75	\$21,000.00	0.25	\$3,000.00		\$-	2	\$24,000.00	
	Shade Structure - Type 3	2		\$10,000.00	1.75	\$17,500.00	0.25	\$2,500.00		\$-	2	\$20,000.00	_
1000 1000	Splash Pad Installation	1	LS	\$58,000.00	1.70	\$58,000.00	0.23	\$2,500.00		\$-	1	\$58,000.00	
	Splash Pad Signage	1	EA	\$700.00	1.00	\$700.00		\$- \$-		\$-	1	\$700.00	
	Restroom/Concession Building	1		\$136,800.00	0.70	\$95,760.00	0.30	\$41,040.00		\$-	1	\$136,800.00	
	Building Service Hookups	1	LS	\$24,500.00	0.70		0.30					\$130,800.00	
		0				\$- c		\$		\$- c	0		
-	Picnic Tables - Type 1 Splash Pad	0	EA	\$400.00		\$- ¢		\$-		\$- c	0	\$-	_
	Picnic Tables – Type 2 70" Rectangular	0	EA .	\$525.00	*	\$-	4	\$2,100.00		\$- C	4	\$2,100.00	
	Picnic Tables – Type 3 Pub Style	8	EA	\$400.00		\$-	8	\$3,200.00		\$-	8	\$3,200.00	
47	Bike Rack – Type 1	15	EA	\$160.00		\$-	8	\$1,280.00		\$-	8	\$1,280.00	

48	Rick Rack - Type 2	5	EA	\$160.00		\$-		\$-	\$-	0	\$-
49	Benches – 72" Rectangular	13	EA	\$300.00		\$-	13	\$3,900.00	\$-	13	\$3,900.00
50	Concrete Corn Hole	1	EA	\$1,000.00	PROPERTY AND LANSE	\$-	- n 1	\$1,000.00	\$-	1	\$1,000.00
51	Doner Casting	8	EA	\$60.00		\$-	8	\$480.00	\$-	8	\$480.00
52	Hopscotch	1	LS	\$1,300.00		\$-		\$-	\$-	0	\$-
53	Light Type A (Not Being Used)	19	EA	\$1,320.00		\$-		\$-	\$-	0	\$-
54	Electrical System	1	LS	\$12,650.00	1.00	\$12,650.00		\$-	\$-	1	\$12,650.00
55	Chain Link Fence - Type 1	584	LF	\$22.92	505	\$11,574.60		\$-	\$-	505	\$11,574.60
56	Chain Link Fence - Type 2	20	LF	\$58.70		\$-		\$-	\$-	0	\$-
57	Chain Link Fence - Type 3	553	LF	\$64.72	130	\$8,413.60		\$-	\$-	130	\$8,413.60
58	Tennis Entry Gate	2	EA	\$850.00		\$-	2	\$1,700.00	\$-	2	\$1,700.00
59	Tennis Double Gate	1	EA	\$1,550.00		\$-	1	\$1,550.00	\$-	1	\$1,550.00
60	8' Double Swing Gate	2	EA	\$1,080.00		\$-		\$-	\$-	0	\$-
61	Deciduous Tree	23	EA	\$460.00		\$-		\$-	\$-	0	\$-
62	Evergreen Tree	5	EA	\$370.00		\$-		\$-	\$-	0	\$-
63	Restoration	1	LS	\$52,000.00	0.65	\$33,800.00	0.1	\$5,200.00	\$-	0.75	\$39,000.00
64	Fiber Optics Provisions	1	LS	\$5,700.00	1.00	\$5,700.00		\$-	\$-	1	\$5,700.00
	ALTERNATE #2 - LIGHT- TYPE B									0	
A2-1	Light Type B	19	EA	\$2,350.00	16.00	\$37,600.00	rea M	\$-	\$-	16	\$37,600.00
	Change Order #2	1	LS	\$4,246.26	1.00	\$4,246.26		\$-	\$-		\$4,246.26
						\$-		\$-	\$-	0	\$-
	TOTAL				1	\$872,131.69		\$82,291.38	\$-		\$954,423.07

, ,